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Divide Money Word Problems

Solve the following problems based on dividing money.
Check the correct answer.

Emily has $56. She distributes it equally among 7 friends.
How much money will each friend get?

O$7 O $6 O$8 O$9

Noah has $102 to distribute equally among 6 charities. How
much money will each charity receive?

O $17 O$16 O¢$18 O$19

Sophia spends $140 on 5 toys. Each toy costs the same
amount. What is the cost of each toy?

0$70 O$28 O $38 O $30

Jake saved $45 from his allowance. He shares it equally
between him and his 2 siblings. How much money will each
of them receive?

O$22 O$25 O$15 O $30
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